Physics 206 spring 2006 

[image: image1.png]WL 206 ExAM TIA

Y2 0:1\0Om AA ‘AO‘A T T) ' | id

T T 2(ladgS)( Ty %) (l% &0) o

e ) L

Tt oere /AA 2.63x6°H ";) Y. %\

==\ 4x\0" = °C - - 2@ o
Q. Q: mCBT Q= wl

MOk Qs A(Nee) (20) L6100 Heal hkew sult
1 =2a0°C Qur9(re«a®) =6 %VVDSJ} -
2 o

‘ e Q"z-» g(aaqo‘) F10) =-tigpo )
BT e NI

QY S )W W=l e ()
Vj: SW\O\ ’ \ | .—1-
TEeeCE 313K w=-(s)(%.2\) (273) \“( ‘ >
f‘f‘“\mg“* | w: - Q.MCM@“‘Q |
V‘f 6m |

b . L - A= A
> NE r Q*UJ DE\W\' =0 > ﬁ;@
Q= DEjx - W |

azo- (guanet) 7

\LQ = g,uax\o“gé}





[image: image2.png]} e ’_
L g 4 //\,,,’. ]

. _‘\v

Q'L\ | ' +B5m v )
Venz 1505 S | B

A-}O-P = 0.0\m?‘
Roor = O‘O\mq‘

0) Fip™? B2 Paxen AN A==
Foot= 7 K;O? 3
Fop = LOI2K0B> (m@o>(a %}( 6D
= 1Lo\4 ’(\@S\Q | 4
= Vo A

'Vo")

-\, omc\x\os( 0.01) | Sop= OV 0|

m

“?bo* \. 03‘2@&[0 =
Foot = 1,0326%\0 (G G\>

\ Cbo* = 1.0296XI0N

b> \x %’M%:O 1= J-,m%“ 13 &= dVS |

g T= (10)a%) - (1) (\.5x6?) (“\-"6)) |
TE G- w7 |T-%eaN

9 o- fn

2
/ \om(\ o 5¥)(a%) * \oaa@x\o?%\ 0\Vq*l@
‘D Q‘—\ ‘7»:' e N |

ey

et

b

) % C S Vi (ka - Fm;D__ e





[image: image3.png]g <@ , >
® q ¢ ‘!/" | O=180
(&) E, = kel g.ad4x10 xS2x0 € '—_AMA%X
| W (3% 4 A3+
CpA= S1AW. 2 N/C 5 @%’Jﬁf(ﬁg@ e _jﬁl _ )} A
o B = el ﬁ’ﬁ%—“w ‘
p= ~&/94.2 @ N v

&S  Ep= ke \9\\ _ 2.GQxi0x S5:2x10. <&

v Wy | 4)

| N | )
: =225
- oolll= 7x0 N ak é@d

Y=

N




